FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS

IN BPS-17 UNDER THE FEDERAL GOVERNMENT, 2001,

TIME ALLOWED: THREE HOURS MAXIMUM MARKS: 100

NOTE:

/\llc;npl' FIVE yuestions in all, including question No.8 which is
COMPULSORY, All questions carry EQUAL marks.

1. What is the most imporiani determinant of consumer spending? Are there
determinants other than the one mentioned sbove? (fso, explain.

2, “GINP 15 » monetary measure”. Expiain. In what way is GNP diffcrent from ;
GDP? Describe two important methods of measuring GDP. .

3. What is the Multiplier Effcct? What relationship docs the marginal propensily to
consume(MPC) bear fo the Multiplier and the marginal propensity to save (MPS)?
What will the size of Multiplicr be when the MPS is 0; 0.4; 0.6 and 1?7

4. What items constifute money supply in Pakisten? What determines value of
money and why is it important for money supplv 10 be clastic i.e. capable of
increasing/decreasing in size?

5. "“When a commercial bank makes loan, it creates moncy; whea loens are retired,
money is destroyed”, Explain.

6. What is deficil financing? Why is it resorted to in developing countries like
I'akistan?
7. Import warif] protection was used as a forceful policy instrument in the past o

establish investment priorities in the developing vountries, Discuss the economic
implications of reducing import tariff to the minimum globally under auspices of
W0 Conventions 1o which Pakistan is a signatory.

COMPULSQRY QUESTION

8. Write only the correct answers in the Answer Book. [Do not reproduce the
questions.

n

Budgetary Deficit refers to:

(a)  Total Revenue Receipts minus Total Expenditures

()  Fiseal Delicit mious Interest Payments

(c)  Total Receipts (Revenue Account + Capital Aceount) Minus Total
Expenditures {Revenue + Capital)

{d) Noue of the above.

Increase in the number of buyers in the market would lead (o a shift of the
demand curve to:

(1) the right (h) the left
(c) upwards along the curve (d) None of the above,

Page 1 of 3

THECSSPOINT.COM

o



http://thecsspoint.com/

E

oh

3

()

)

(6

N

(8)

&)

(10)

(n

1=
-

cs

PER-

Balance of Trode Deficit refers 10:

{a)  Excess of payments for import of gouds and services over Feceipts
from exports of goods and services

(b)  Excess of ceceipts from commudity exports minus payments for
impors of goods

{¢)  Payments for commodity imports minus receipts from commadity
exports

(d)  None of the above,

A monopolist gains more if:

(a)  claslicity of demand for his product is low comparatively
{b) elasticily of demand for his product is high comparatively
(¢)  demand elasticity does not change.

(d)  Noneof the above .

Devatuation of Pak. Rupee in the 1990 led to:
(a)  locrcasc in exposts

(d)  lncrecase inimports -

(<) Increase in both exports and imports
{d)  None of the above.

Most sophisticated models of econoinics growth are based on:

{a) rcalistic assumplions

(b)  unrealistic assumptions

(¢)  onassumplions, at least some of which are extremely difficult Lo
be proved as valid :

{(d)  Noue of the above.

Real GDP refers to:

()  GDP, at coustant prices

(b}  GDP, at current prices over time
(¢)  GDP, at nominal prices over time
(d)  Nooe of the above,

Teams of trade refer to:

(a)  unit price for commodity import

(b)  Valuc of exports vs Value of imporis

(¢)  Exchange rate spplicable lo foreign trade of a country
(d)  None of the above. :

Cost ~ push inflation is the result of:

(@)  increase in the production cost

{b)  increase in the price of industrial production
{¢)  cscalation of international prices

(d)  None of the above.

Competitive markel comprises:

(a)  large number of buyers

(" large number of firms

(c) large number of both buyers and producers
(d)  None of the above.

A monopolist maximizes his profit at a point where:

(a)  His average cost curve ineels the marginal revenue cusve
(b)  His marginal cost = marginal revenue

{c)  Hisavernge cost = market price of market

(d)  None of the above.
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(12} Under perfeet competition, a Jirm would meximize profit at a point where:
{a)  average revenue = average cost
{b)  marginal cost = avcrage revenue
{¢)  marginal cost = marginal revenue
(d)  None of the above,

{13y Forcign trade differs from domestic trade:
(a) . beepuse of terms of trade
(b)  duc to diffcrences in produclion costs
(¢)  beeouse of territorial Jifferences
(J)  None of the ahove.

(14)  World Trade Organization is:
(a)  the same thing as UNCTAD
(by  the same as WHO |
(c)  areplaccment of UNCTAD '
(d) None of the above, : !

(15}  Major sources of revente in Pakistan's Budget:
fa)  have not changed in the 1990's
(b)  have drastically changed in the nineties
{c)  have changed slighdy in the nineties
(d)  None of the above,

{16)  Main heads of expenditure in Pakislan's Budget (in ascending order) are:
(a)  Forcign debt, Development, Defence
fo)  Defence, foreign debt, development
(c) Development, Defence and foreign deit
(d)  Nonc of the above.

{(17) Increase in Foreign Exchange reserves causes:
(a) inflation {b  dellation
(¢)  Noincreose in price level  (d)  None of the above.

Li8)  Pakistun's Budget deficil is financed by:
() Revenue Budget surplus
(b}  Borrowings (both bank and non-bank)
tc)  Forcign resoruce inflow
{(d)  Noncof the above.

(19)  Mosl inportant economic indicator of the health of an economy is:
(a) liicomwe per capital (b}  National output
{¢)  Literacy rate {d)  Nomo of the above.
(21)  Most imporiant catalyst in economic growlth is:

(a)  savings and jnvesiment (b)  technelogy and skilis
{c) both at (a) and (b) (d)  None ol the above.
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FEDERAL PUBLIC SERVICE COMMISSION

COMPLTITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN BPS-17 UNDER THE FEDERAL GOVERNMENT, 2001,

LCONOM -11
TIME ALLOWIED: THREE HOURS MAXIMUM MARKS: 100 *
NOTE: Altempt FIVE questions in all, including question No.8 which is

COMPULSORY. All questions casry EQUAL marks.

1. Discuss the role of foreign aid in the development strategy of Pakistan development
budget.

2. What are charactiensiic reasons of the failtags of economic planning in Pakistan?

3. Amplify 1o differentiate the terms «of GNP and GDP and discuss the coniribution of
agriculture sector v's industrial sector in the GOP of Pakistan.

4. Write an essay on the scope of introduction of interest frec banking in Pakistan.

S. What do you keow ol tax reforms in Pakistan in recent months? What are the basie
reasons of the failure of increasing thie tax-net?

6 Clarify the distinction between any two of the following:

(a).  Public Finance vis Privatc Finance

(b).  Foreign Remittances vis Export Eamings
{c).  Agriculture tax vis Value addexd tax.

(d).  Budget estimates vis PSDP.

7. Whet do you understand of cash crops? What imsportant role cash crops play, in export
caminys of Pakistan?

COMPULSORY QUESTION
8. Wnie the correct answer in the unswer book. Do not reproduce the question.

(A) i
(1) Extemal debt servicing is grealer than: ) '
(a) Social scetor spending {b) Defense spending
(c) Agricullure servicing (d) indusirial scctor mvesbinent
{e) None of thesc.

(2)  Pakistan foreign varnings largely depends oq:
(a) Agricultural products (b) indusinal products
(¢) Overseas Pekistanis remitlances (d) Software expors
(¢} Nene of these.

(3) . Nauonahization of 705 ia Pakistan has done:
(a) More pood to the ceonomy {b) More harm 1o the economy
(<) Has not aflecied the economny subsiantially
{d) Has not becn effecuve considerably
{¢) None of lhese,

i9)  The largest revenwe collection is twough:
{a) Income tux () GST (€} Customs duty
() Wealth tax. () None of these.
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(5)  Per-capiti income in Pakislan in the Jast 5 years is:

{4) Increasing substantially (b) Dccercasing marginally

(<) Constant largely -

{d) Increasing in the ficst two years, but decreasing in the subsequeni
three yecars.

{c) None of (hese.

(¢)  The economic growth rate in Pakistan in the last § years is:

() Declining in trend (b) Static almost
(c) [ncreasing flatuleally (d) Improving constantly
(v) Nane of these,
{7} The GDP growth in I'akiston largely depends on:
(1) Manulacturing sector (b) Agricultural seclor
(c) Service sector (d) None of these,
(8)  Large scale manufacturing sector growth rate in Pakistan in the last Gnancial yeur
was ahout:
fay 15% () 10% () 5% (d)0% (¢) None of these. ”
() Which is the highest body to apprave Lhe public sector hinancial outlay.
{ay DDWP (b) CDWP
(¢) ECNEC (d) NEC (e) Nonc of these.

(10)  Education spending as share of the budget in Pakistan is neacly:
(a) 15% (b) 12% (¢) 10% (d)8% (e) None of thesc.

(B) Indicote cither the following statements are true or {alse, Explain your answer.

{11)  Due te inflation the nominal GNP of Pakistan is increasing while its real GNP is
fulling. :

{12) Since the freezing of Foreign accounts, GDP of Pakistan is greater than its GNP

{13) Pukistan's halance of trade is in deficit owning to continue devaluation of the Pak
Rupee.

(14)  In conlrast to "Ieckschers-Ohlin" theorem Pakistan is exporting lubour inlensive
goods whilc importing capital-intensive commodilies,

(15) The privatizatien conunission of Pakistan is in fact a follow-up of demand side
policy.

(16)  The establishinent of Khushali Bank is a follow-up of supply side policy.

(17} The failure of monctary policy in Pakistan owning 10 less sensitivity of
investment demand 10 rate of interest,

(18) Duc to 1ax consumption ullowance, the government cmployees in Pakistan are in
fact payiog low tax per Rupees earned.

(19)  Devaluation of Pak currency definilely causes an increase in foreign debt in real

. lerms, but not in nominal {erms.

(20)  Govemment of Pukistan mainly borrows from gencral public by selling its

securities.

LAEARLL L1
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FEDERAL PUBLIC SERVICL COMMISSION

COMPETITIVE EXAMINATION FOR l{li(.'RUI'l'Ml NTTO POSTS
IN PBS-17, UNDER THE FEDERAL GOVERNAMENT, 2002

ECONOMICS, PAPLR-)

MAXIMUM MARKS: 100

TIME ALLOWED: THREV THOURS

!
JNOTES Arempt FIVE guestions w all, including QUESTION NO. 8 which s

4.

t.

COMPUTLSORY . Al questions cinry EQUAL nurke,

Wy 1z equality of Marginal Revenue and Maginal Cost esseatial for prolit
maximization in all ket structures” Examing the signilicance of 1his equality in the
tscany ol the Fems.

"Planned Investment is equal (o Savings at wll fovels of NN actnal investment eguals
savings only at the cquelibaiunm NNI' Do vou agree” Explin.

What role can the Central Bank play w pramoting cconomic growth wilh st ™"
Tilustrate vour answer with reference to Pakistan,

“The Modern tendeney in cconopne thinking s 1o discurd the old notion of the guantity
of money us the sole deternnnant of the value of money”™ Elucidaie.

Do you agee at indireet rather than direet txntton will provide large public revenue
necded 1w developing economy? Explam.

Lxpimin the concept of Terms of Trade, How do you account {on the detenoration of
terms of trade of a developing country like Pakiston”

valeate the following statements:
() 172 product improves in guality from one year 1o the next year al its price rises
to retlect this improvemunt, Real GNP and GNP defluror both will increase.
() I a Pakistani Gem decides o huild a plant inJapan rather than in Pokisten. GNP
ol Pukiston will exeeed to GDJY,

COMPULSORY QUESTION

Write only the roneet answers in the Aaswer Boak. Do nol reproduce 1he guestons,

in Two commodities we considered (o e perfeet substitutes for coch other il'the
clasticity of substitution is

(1)  positive thy  negative
{¢)  infnite () pone of these

(M A stmight-line downward sloping demand curve implies that, as price Galls the,
clasticity of demynd .
i) Ui ih) decrenses ’

{c)  remains he sume (Y none of the above
(0, Which of the following is often considered 1o be inconsistent wilh the notion of
peilees eomppelition
(u) large numiber of s (b} lree catry
(¢)  camplete mobihy (d)  nonc of the above

(4)  Currently total invesiment as pereentage of GDP i Pakistan s

(1) 29 {is) 149
)y 169 . {d)  wone of the above

(S) A purely monetary explanation of the business cvele is praposed by
() Hawtrey {b}y  Schumpeler
{c) [ lamsen () rone of the above

() The exogenoms variablc i e income eguanon ¢ TG Y s
(a) v (b) |
() 1 : (<) none ol the above
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(20

The Lorenz curve deseribes
(1) ineame disieibuiion (b)  the imerest rare
(c) the maginal efficiency of capiial () none of the above

A stable equilibriem requires that the marginal progpiensity ' consume is

in) leas than 2210 {b) 2010

{e) e (d)  none ol the nhove

Hitetvatenal ede duting the 19 connry was chancieozed b

(W exiensive haness ro trade (L) aperation of the pold standand »
{u: asmallvalume of iscemational tade (d) sone of the above

The type of bustneas organization o which an divedual has volironed
responsidnliny for che debis of the orpanization is

) paenceship (LY corpontion
() o poly (d) none of the above
Wiieeh one of die followsng typet of fuxes i the nust fepgessing
(1) MEONW "A%ey (Is) sales taxes
") CNCISC laNes (<) nonge of e above
An Fanpel curve is Dased on whicl one of the following assumptions
f) Lonstant prices, varying meomes () constant prices, constant incomes
() CONSINL INCOMES, Vacying prices (eI} none of the above
Ve Jargiese padinp pariner of Palostan is
() haly i) Flong Kony,
() Cocrmany () nuone of the shove
Of the followimg which one is 2 chamactenstic of menopolisne competition
() standardized produce (M compamatively casy entey ‘
() litthe non-pace compeution  (d) none of the above
Tty the Jong 1on
{a) {ixed costx will be jrecater than vatable costs
) vatiuble costs wail be greater than fixed costs
(<) all costs aze vanable costs
(<l neome of the abhove

Currently the total export value of Palistan i3
G S10billions (6)  § 9 billions

vy SHbillions  (d)  npone ol the above,
A competitive fir will maximize profits at the opipat where

(a) the ditference Belween price and mnrginal cosl is highest

(L} price 15 higher than the average toial cost by the lirgest sunount
(€) o revemues and ot costs are exactly cqual

(J}  none of the above ;

Structucl unemployinent can he elimmated by

(a) uaining the technologically unemployved

() mereased federad expendilures

(¢} an increase in the pencral credif leve)

() none of the above

Fublic niilities tend to be

(a) mellicient

by satorahinonopolics ' '
fch subject to inercesing cosls

()}  noneof the above

Wiiich ape of Lhe following is incarrectly matched

{m  loan Rabinson =~ fmperfect Competition

(by . Edward Chantkerlin —- Monopolistic Compelition -

{c)  Villicdo Parets —~ Welfare Lcomimntics :
() none of the above

SRetatevs

THECSSPOINT.COM

PAGL 2 of KUMpsree=




§

FIEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT 1O POSTS
IN BI'S-17, UNDER THE FEDERAL GOVERNMENT, 2002.

ECONOMICS, PAPLER-IL

TIME AL ()WI 1 IIIRI I TIOURS \1AXIMUM MARKS: 100

SNV E T S NENNCAL L P\ TN SO T A 1 e W58 WL | ST

oNote: Altermypt CFIVE qnulmm i all, m;ludml, Quustion No. 8 Hwhich in COMPULSORY.
AN guestions carry EQUAL maiks.

1 Surpest ways 10 insprove viros cconomie and non-cconsinie Gietors 1o cosue a
persistent and apprecialyie ceonamic growth rate in Pakistan, keeping in view inheremt
constraintwlimitations.

p. Txplain the stencture of planning machinery in Pakistan. Point owt vitl
deticiencies/predicaments and sugaest remedial measures,

3 Fiaborate the common social fentures of afl tie land retorms iniplemented m Pakistan,
What were the socio-geonainic [l ows of these reforms?

4. The policy of “financial inequality” 1 the sixties, transformaed the economic sireciire and
socil neder 1 Pdastan. Substastiate with facts and logical conclusions, whether you
apree or ofhenwise, :

S. Summarize vacons reads in the Dalance of Tayment of Pakiston right from inception.
What ig the present sithation?

6. Iow ean wee enhanee the industrial sector conmribution to the GDP, realizing the fact that
Pakiistan s o eapital-seee, highly-populated countiy,

7 How would you evaluaic the provess of privatization in Pakistan? A siceess or o faiivre.

A 'ULS JESTI(
8 Wiite only the correct answer in the Answer Book, Do not produee the question.
(1 The real GDP growth was ... ...in fiseal year 2001-2002:
L) 3% (b 10% () 38% () 4%  {e) Nomie of these
12) The slower growth in real GO over the Esst two years g been coused wminly
by
{n) low investment () continudtion of catastroplie drouglis
(9] decling in e contribatiun of services sector
(d)  Growth pertormance of many developed and cincrgiog markzi sconomics,
fe)  Noue of these,
{3} Population growth rate i Pakistan is:
(n) 22% () 24% () 26% () 28% ({e) Nowe ul these :
(4)  More than half o! the total FDIL inflows in Pakistan is contributed by: -
(a) USA. (b)) UK () Japen () UALE (c) None of these
(53 The nsolional saving rate has increosed by..... .. .percentage poinis of GUOP since
1998-99;
(@) 27 (M AT () 47 () 57 (¢} Noncolthese
(6)  The largest sector, alirscting a big chunk of otal Forcign direet mvestimen! in
Pakastan is:
{a) Trade, Trnsport snd Conmunications
{b) Chemical and Pharmacenticals  (©) Qi and Gus and Power Secto
PR (d)  Electronws {t) Nonc ol these
(70 Global GDP approxinmtes (o; '
{a) $ 10 wsllion (h) $ 20 tilhon
v’ {©) $ 30 trilhion () £ 40 uitlion
i el None of these
£ s S Y b (R)  Bascd on the requirenients of 21 50 calories, the Goverament of Pakistan has
¢ Whevier adopled the official poverty line in 198859 as.. . per capita per nsonth.
{a) . Rs. 4% (b) Rs. 350
(¢}  Rs v (4)  Rs. 650
{¢)  Nont ol tese
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(9 Almost 40% of the CBR revenue originates framy
{u) Personal and corporute income  {b) Impuosts
(¢) Wealth (d) Natmal Gas & I'eiralenm
(¢)  Noneoflthese 4
(10)  Pakistan's non-agricultural GNP in 20012002 was ... that of Yass year
fpures:
() greates thim D] fess tlum

i) cqual tn )
(1) According t the Budget estimate for (he year 2002-2003. the approxionde fulo

. eof Development expenditore 1o currenl expenditore is
() 1:3 {h) 1:d4
(¢» 55 W 16
(¢} Nonc ol these .
(12) A commadity is considered to be a *lusury™ il its income elusticity is
{a) Fanal to one hy Gircatee than o
S (v} less than one (0 Jeen

) None of theze
(1) Value bonds fll when:
(n) Invest rate falls
(by  Invest rale rises
(¢} Invest rate rermains constant o long fne
(el Invest rate fluctuates
() None of these
(14)  Monepohstic exploitation aud monopalistic compelition:
{a) are the same
() Later resulis in the former
(<) Farmer resubts in the Jatler
() Fanner refers to higher prices and Jatter to ditlereny atexd products
{c) Nune af these
(15)  Beside ollcr instruments, the State Bank can change maney stouk by
manipulating: ;
() The currency deposit ratio (k) 1l reserve deposit ratio
() Market and ciscount rite () Aol the above
{e) Nane of the (a), (b) and (¢)
(16)  Pakistan is pursuing:
{u) Fixed exchanpe rate sysiem
() Flexible exchanpe rale system
(¢)  Mannged float through Banks
(dy  Allolthe above
(e)  Noncofthe (o), (b} o (<)
(17} Monetary policy that results i lowering interest 1IC bs:
{a) Conlractionary (b} iixpunsionary
(e) Modlerate () deilationary
(c) None of these
(18)  The Bunus Voucher or Export bonus scheme wos intrediend i the year:
(u) 1957 (n 1958 =
(c}) 1959 {«h 15640
()  Nonc ol the these
(19)  The Bad luck Gactor responsible for paor pedommmince of ceanomy m U s s
(a)  Massive floods and crops faiture '
(b)  Giobal Ol Crisis ‘ :
o (¢} World recession faliowing OPEC price ris L
W)  Allof the abave
(e} None of the {a), (b) and (¢)
(20 Although they never matenalized. reenmmendations af the Mushin League Land
Retor Cormittee were put [orward i
) 1947 (by 948
tc) 1952 (d} 1954
(v) None of these.
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1 5 FEDERAL PUBLIC SERVICE COMMISSION
t"“st‘af”" e

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN'PBS-17, UNDER THE FEDERAL GOYERNMENT, 2003 ;

ECONOMICS, PAPER-I
TIME ALLOWED: THREE HOURS MAXIMUM MARKS: 100
NOTE:, Aucmpt FIVE questions in all, including Qumﬁon No.8 whichis |
COMPULSORY. All questions carry EQUAL marks, Write clearly.

L Discuss which of the three approaches explain betier consumer behaviour and
why?

2 Show und explain the conditions of oulput muximization and ¢ost mmumauon.

). Explain how the modem theory of iaterest (IS - LM) model came into being and
how is it different than the other theories?

4. Explain stagflation and give a viable strategy 10 overcome this phenomenon.

5. It is desirable 10 have a larger proportion of direct taxes in the taxation structure,
Explain why? Also explain, why in a developing country like Pakistan, cfforts to
rajsc the share of direct taxes have nol met with success.

6. Critically examino the theory of comparative cost,
2 Write notes on the followings:-

: (i)  Role of IMF and its impact on developing cconomies.

(i)  Government experditure and cconomic devc[opmcn_t.

COMPULSORY QUESTION

.. Write only the comrect answers in the answer book. Don't reproduce the

questions.

(1)  Total revenue reccipts are maximum at that point on a demand curve
where price elasticity is: .
{a) Increasing {b) Decreasiog
{¢) Unity (d) None of these.

() Which of the following products will liave an clastic demand:

3 (a) Flour (&) Cloth

(¢} Honda City (d) Nonc of these.

(3) Price controls are:
-~ {a) Necessary for consumer’s welfare
{b) A must 1o check inflation
(¢) Doomed to fail.
(d) None of these:,

s (4) Increasc in minimum wage:

(a) Helps in controlling unemployment
(b) Increases uncmployment

(¢) Reduces wage bill

(d) Nonc of these.

() An mdnffcn:noe curve gives:
" (s) The actual combination of goods that consumer chooses.
{b) The minimum choice of the consumer.
(¢) The highest level of satisfaction.
(d) None of lhesc.
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©)
)

@)
©
(10)
(1)

(12)

(13)
(14)
(i5)

(16)

(7

(13)

(19

(20)

MRS,, being 6 means:

(a) Consumer is willing to give up 6 units of x for one of y.

(b) Preference for y is 6 times that of x.

{¢) Bothof the above.

{d) None of these.

Consider curdinal measure of utility, increase in consumption will:
{a) - Incrcase marginal utility.

(b) Will not average utility.

{¢) DBoth (a) und (b).

() Nore of these.

[a pure competition: *
{a) Strong tivalries exist {b) Cartels are formed
{¢) Both{a)and (b). {d) Nore of these.

National incomes include:
(a) Undistributed corporate profits (b) Fringe benefils

{c) Both(a)and (b) {d) WNone of these.

Personal income is oblained by 2dding which item(s) to national i income:
(a) Govi. trunsfer payments. (b) DBusiness transfcr payments
(¢) Both (2)and (b). {d) Nonc of these. G

Which of the following is a stock variable: y

(a) . Gross private domestic investment . (b)  Personal savings
(c) Boih (2) and (b). (d)  None of these.
Find out the True Statement(s): :

(@) When aggregate supply exceeds aggregate demand, output rises.
(b) If intended investment exceeds savings, ouiput falls

{c) Both(a)and (b).

(d) Nonc of these,

When un-inlended investment is positive:

(@) Output tends (o rise. (b) Output tends (o fail

(¢) Outpnt is in cquilibrium, (d) Noue of Lhese.

With no government and foreign trade scctors, savings always equals:
(a) [niended investment (b} Realised investment

(¢) Both (a)and (b). {d) Noncof hesc,
ITMPC=2/3, the investment multiplicr is:

(@) 273 (b) 173

{¢) 32 (d) None of these,

Find out the Truc statcment(s):

() When consumption function is linear, the mpe = apc.

(0) The short run consumption function has a steeper slope tian that of
the'LR.

{¢} DBoth(a) and (b).

(d) Necne of these.

I Union Bank has demand deposits of Rs.25 million, no time deposits

and reqmrcd reserves of Rs.7.5 million, the legal reserve requircment

ratio must be:

@ 33% (by 333%

(c) 40% (d) Nonc of these.

Which of the foliowing is likely to be longer for monetary policy then for

fiscal policy?

(a) The implementation lag (b) The recognition lag

{c) Both (s} and (b). {d) None of these.

‘The number of income tax payers in Pakistan is:

{a) 2 million (by 0.7 milion

{c) 1 miilion {d) None of these.

The impact and incidence of sales tax is:

(a) On the consumer {b) Oa the seller

{c) Onthe producer - {d) Neone of these. *
CAkEsunte
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXA\AINATION FOR RECRUITMENT TO POSTS
IN PBS-17, UNDER THE FEDERAL GOVERNMENT, 2003

}‘CONQMICS, PAPER-I1
. :[IMIP, Ag,g‘gwgn- THREE [{OURS _MAXIMUM MARKS: 100

NOTE: Atempt FIVE gquestions in all, including Question No.8 which is
COMPULSORY. All questions carry EQUAL marks.

i 1. Perpetual budget deficits indicate that governments in Pakistan kave been
‘die-bard' Keynesian. That legacy still being there, discuss the rationale of
endorsing the neo-classical counter-revolution, as witnessed by both

* privatization and the increasing role of the private sector in Pakislen’s
econony.

2. “The debatc on ‘growih and equity” wade-off that ensued in the second half of

- _ the 1960s, was largely responsible for the subseguent paradigm shift. '
tHowever, the cconomic and social indicators in the 1970s, scarcely justified
the Jauer™. Discuss.

3. Do you agres that numercus structural imbalances are seriously hampering
Pakistan's sustainable development, and sooner they are redressed is better,
even if the process involves compromsing short-run growth targets?

4, Differentiate between the private and the social rate of retumn. Do you agree
that public spending on health and education for maximizing the Jatter? What -

\ in your opinion is the respective state of affairs iv Pakistan?

S. Differemiate beiween foreign portfolio and foreign direct investinent, and
discuss the relative merits and demerits of the cach type for a country like
Pakistan.

u 6. “There are some believe that in the carly 1960s, Pakistan was at the take-off

" : stage of the Rostow’s scheme of growth, However, a close study of the latter
oquals: indicates that Pakistan, in many ways, has jumped into the last stage now,

- without-ever having iranscended even the second stage of growth”. Discuss.

7. Compase the performance of Pakistan's agricuitural pricing policy with that of

the Common Agricultural Policy (CAP} and the Farm Su.ppon Program of the
U.S. of America.

PULSORY QUESTIO

8. . Write only the comect answer in the Answer Book. Do not reproduce the
' question.
. (1)  Balance of paymcms deficit imaplies:
(a} Deficit in the cugrent account (b) Deficitin the Capital account
. (¢) Deficitin the ade balance  (d)  All of these,
i c!cpouls (e} Nonc of these.
e (2) - Pakistan’s major trading portners are:
' * {a) Japansnd China (b) Islamic countries
{c) Western Ewope and US.A  (d) Botha &b
: ) : (e) None of these.
licy than for {(3)  Pakistan became a member of Multifibre Arrangements {MFA) in:
. (a) 1950s (o) 1960s
s () 1970s (d) None of these.
: (4} Presently, in Pakistan the Jargest contribution to GDP is made by the;

(a) Primacy sector (b) Secondary scctor

(¢} Tertiary sector (d) Nonc of these. *
(5)  The tertiary scclor includes: .

(s) Profcssional scrvices (b) Transport services

(¢) Distributive services {d} All of these.

(¢} Nonce of these,
(6)  Pakistan’s custom duty rates ure highest on:

" (a) Inwrmediate goods {b) Consumer goods
(¢) Basiv raw tmaterials (_f_ Chemicals and components.
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(M In the textiles scetor of Pakistan, the largest number of firms belongs - COMP
. (2) Integrated textile milis (b) Independent Weaving units
" (c) Power looms sector (d) None of these.
8) The lnq;,cs& number of sugar rills working in Pakistan is in: : M 1
(a) Sinch (b) Pupjab :
(c) NWFP (d} Nonc of these. NOTE:
(9)  SMEDA is an acronym for:
() Southem Motorway Enginecring and Developmceat Authority
(b) Sindh Microclimate and Eaviroumental Design Agencey
(c) Salinity Management and Environmental Development :
Authority, ). E
(d) None of these. v i
st
(10) - The region receiving the smallest share of FDJ inflows to developing D
countrics is: --c
. (&) Latin America and Caribbean (b) [Fast and South East Asia , e % !
() South Asia (d) None of these. s pe
3. o |
(11)  The largest source of FDI in Pakistan is: X ot
(a) Gemany (b) Canada : o
(¢) Korea (d) None of these. 5
(12) o Pakistan, the Jaryest sectoral share of FDI goes to: 4. ‘L
' (2) Power (b) Textiles m
(c) Financial busincss (d) Noneof these. , B
(13)  Io Pakistan the average annual size of the Gini<aefficient was highest g::
Cooum i
(a) 1960s (b) 19705 6 An
{c) 1980s (d) 1990s. hos
(e) None of these. : ¥
(&
{14)  The average annual GDP growth rate in Pakistan has been lowesl in:
{a) 19G0s (b) 1970s
(c) (9805 (d) 1990s. :
(e) Nonc of these.
(15)  Afecr defense, the Jasgest share of Pakistan govemment's current
’ expenditurcs goes to: .
(2) General adminisiration (b) Current subsidics 8 wa
(¢) Socio-cconomic and community services ‘ u:‘.-
{d) Nonc of thesc. ?1)
(16)  The largest revenue source of Pakistan’s goverumenis comes from:
(a) Dircet 1axes (b) Custom dulies
(c) Sales taxes (d) Nonc of these.
(17)  The intemal cutstanding debt in Pakistan is: .
(a) Greater than the GDP {b) About & quarter of the GDP (2)
(¢} About 3 quarters of the GDP  (d) None of these.
(18)  Major part of forcign aid lo Pakistan comes fxgm: '
(a) Consortium countrics (b) Islamic countrics
(¢} Non-consortium countries  (d) Both (b) and (¢).
(19)  Pakistan’s extermnal outstanding debi is: {3)
(a) More than her GDP (b) About half of her GDP
(c) Alitile over onc thud of her GDP
(d) Nonc of these. .
(20) In Pakistan, Public Sector cxpenditures on education are: A
{a) 10% of GDP (b) ;’/- of GDP :
(c) 5% of GDP (c_i) one utl.dr_:r
ECSSPOINT.COM
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L FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN BPS-17, UNDER THE FEDERAL GOVERNMENT, 2004

ECONO S, 'APER-

JIME ALLOWED: THREE HOURS e AAXIMUM MARKS: 100
NOTE: Attempt FIVE questions in all, including Question No. 8 which is

COMPULSORY. Ajl questions cairy EQUAL marks,

1. Resource allocation and their outcomes are the Centeal goals of all individwals, The
emphasis is not on supply side, rather price is delermincd by what people want and are
prepared to pay for?

2. If aggrogate demand exceeds the productive capabilltie; of thie buiomy at full empiayinent,
there will be insufficieat out pat to meet denaand at Iy turrent price level. It creates an
infationury pressure und can be demonstrated as inlinllonary gap, 1iscuss,

3. Statc and demonstrate the determinants of Money sujspily 1 an euonomy. What role does it
play, if there is incrcase o decrease in woney supply?

4, High tax rates means large disincentives to productive efforts that uggregate supply and tax
revenues are both restricted. Give your arguments (ot a just tax System.

5. The major issue of developing countries is the voluine of production and quality control.

;i Customers and consumers expect it. How the producers exceed customers expectations?
How will you recommend the business community 1o prepare themselves for Global Free
Trude?

6. IMF exist to ce-ordinate foreign exchange dealings, and to give macro-economic policy
advice. It provides a frame work on matters of monclary and exchange ruic policy. Distuss,

7 Critically examine that the Quantity Theory of Money is more accurately a monetary theory
of the price level,

COMPULSORY QUESTION

8. Write oaly the correct answer in the Answer Book. Do not reproduce the question.

{1)  Insupply of and Demand for a product, an increase in production costs will shift:
(3 DemandCurvetothcleft (b}  Supply Curve (o the right
(¢)  Demand Curve lo theright  {d)  Supply Curve to the left
{e) None of these
(2)  When a demand schedulc is drawn up. which of the following is not heid constant:
(a)  Pricc of Substitutes (b)  Price of factors of production
(¢)  Pricc of Complementary goods (d)  The price of the goods
(¢)  None ofthese 2
(3)  The more a person consumes of a thing:
(a)  The smaller is his fotal gain
(b)  The slower is the rate of increase in his total pleasuie
(¢)  The highee is the price.
(d)  Consumes the maximum
(c) Noue of these
(4)  When AC is less than MC:
(®  Anincrcase in outpul would cause AC to risc
(b)  Fixed costs must be rising
() ACwfall
(d)  Should not produce beyond minimuun AC
(¢  Nongcf these
(5) A firm's tolal fixed costs ove R5.2400. If at u cestain ondput its price per unit is
Rs.20/- and average variable cost per unit is Rs.14/-.  The level of out put is:
(a) 1000 units () ° BOD units {¢) 600 units
(d) 400 units (e}  None of these
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{6)

N

(8)

+))

(0

(1

(12)

(13)

(14)

(15)

(16)

a7

(a)  Accelerator principle (b}  Marginal cfficicncy theory =
. (¢)  Marginal Propensity lo iavest (d)  Muliiplicr puinciple
()  None of these
Over tine increase i interest rate is expected to: : .
(a)  reduce inflation (h)  Increase nflation
(¢)  reduction in GDP (d)  decrease'in liquidity
(¢)  Noncofthese
Exchange rates are:
()  only a demand factor (0) @ demand & supply fector . AT
(c)  ooly supply factor (d)  neither demand nor supply factor P ¥}
An increase in disposable income: oo ety
(a)  incresses economic pood (D)  reduces economic good 2
(¢)" reduces speading (d)  basnocffect on economy
(¢)  Noncof these
Demand pull inflation is:
{(n) When aggregate demand is rising (b) ~ When aggregate demand is Jow
{c) When costs arc rising ()  When costs are low

(18)

(19)

(20)

_—_————w

APER-L:
Which of the following is not a condition ol perfect competition:
(8) Inclastic Demand curve (b)  single price
(¢)  Uniform product (d) many buyers

(¢)  None of these
Profit maximizing monopolist will produce at the Jevel of out put, where:
(@)  Price is greater than MC {b) AR=MR

(¢) AR=MC (d)  Total Cosls are minimized
(e) Nonc of these

A steel firm takes over a Coalmine Company. Itis an examplc of:

()  Holding Company (b) Intemal cconomics of scale
(¢)  Houzontal integrator (d)  Vertical integrator
(c) None of these
Which of the following is not purt of aggrepate demang:
(a)  Investment (o) Govt Spending (c) out expouts
{d) Taxes (e) Nonc of these
1f GNP rises while 3 of the following four remain fixed, Which of the four
cowd not have risen: ‘
(8) Conswnption (b)  Taney (¢)  Saving ‘
(&) transiers ()  Nuneof these
An increusc jo the Income tax rate causes ihe fuil cinployment budget surplus to:
(a) Increas: {(b)  Depends on tax '
()  Decrease (@)  Decpends on propensity .

{¢)  Noncof these

The most important factor respongible for growth in GNP has been:

(o}  Technological change (o)  Gowvt Spending

(¢)  Capital formation {d)  Population growth

{¢) Noneofthese

A businessman expects an mteroal rate of retwin of 12% and decides that the
investrent is aticactive. The decision is based ou;

{¢) Nonc of these
e foreign debt ean be reduced by:

(n) Increase wn domestic saving (k)  increase in aggregate demand
{(¢) increase in exchange rate W) decrcuse in wealth

{¢) Nonc of these

Net foreign debtis:

(a) the diffcrence between exports and {inpostis.

{b) Debt less equity

{¢) Difference between gross borrowing (rom non residents and lending overscas
{(d) only savings

(¢) None of these

The Focus of Monelary policy is a: ; .

{a)  Price stability (b) Extetial Balauce  (¢) Stimulating growth
(d) Curreat sccount deficit {¢) None of these .

LA R L L LRl L
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN BPS-17, UNDER THE FEDERAL GOVERNMENT, 2004

LECONOMICS, PAPL-11

WED; iE ) .. e MAX(MUM MARKS: 100
NOTE: Altempt FIVI questions in all, including QUISTION No. 8 which is
COMPULSORY. All questions carry FQUAL marks.

1. Economic developinent docs not simply raise the community to a higher level of econoniic
welbeing but reorganize the society (rom within, Define economic development in the light
of above slatement. Show how it can be measured?

2. © Whatis inescapable is a change or an effective planning. Surplus Labour hidden capital and
mobility of resources cannot be increased 2 great deal without welwoven planning. Give a
critical evaluation of planning cxperience in Pakistan.

3. Agriculture stimulate Industrial Scctor, and through effective Intermational Trade can earn
Substantial Foreign exchange. Jn the absence of ggriculture tax and value edded tax which
remain one of the most vseful Fiscal Instrument at the disposal of 2 conscious state for .
raising funds for agriculture developmént projects. Give & critical review of agricultusal
policies.

4, Dr. KUZNETS writcs that the major stock of a nation is not its physical equipments. Thg
essential investment is Jargely in human beings and not in sticks and stones. Unless humen
Capital efficiently developad, tangible results in industrial development can not be realized.
Discuss in detail.

% Small and medium type business get casy access (o the funds, have tremendous potentials of
growth and contribute a [ot to the socicty. Pravided they extend a needed service, charge
reasonablc price and do it well Signify the role of medium type business for cconomic
development,

6. The only remedy is to privatize public sector projects as quickly as possible, so that funds
arc made available at & competilive rates to competitive projects. Let visions and ideas
come froin the stale so that private initislive can be educated to constitute and [ourish.
Discuss.

7 To be competitive, organizations have no choice, but to use the management concept and
techniques to innovate and Lo lead to new challenges. Signify the direction of trade and
trends in Pakistan’s major exports and imports,

O ON

8. Write only the comrect answer in the Answer Book. Do not reproduce the whele question,
(1)  Most of the public scetor projets were in Juss because:
® {z)  Setting up of industries In backward hivas
{b)  Where private investors were hesitanl to invest.
()  Profit making was not tli objective
(d)  Prcjects were facing nujherous p:’ohlull\s and consumers were exposed 10
taxes
(2)  Many manufacturing uaits weie nationalized because:
(a} 22 fumilics were found having contin! over a Jion share
(b)  producers pail wages which were below the subsistence wage rate
(c)  Capitahist class was given profection
(d)  Consumers had to face increusing Indirect taxes.
(3)  Which of the following be the reason for pnor performance of Nationalised Units:
(8)  Repeated rupee devaluation
(b)  Multiple exchange rate system
{c) Import duties and tari(T walis reduced
(d)  Tax rcbates and incentives to the producers were withdizwn,
(4)  The main objective of a wage 2nd 1ncome policy is:
(8}  Anincrease in economic growth and reduced unemployment
{b)  Wage increases without out-break of inflation.
{¢)  To increase exports and recduce current account deficit.

(d)  Have low interest rate.

(%) (S:)fcly nlt;:‘ :,(s, : ‘l:::ll of income that; " cmplo;l;!jng C S S P O I N T . C O M
(c) employers want (d)  is minimum amounl acceptable.
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(0)  Wage and income policy help reduce in: AR
(@) Costpushinflotion in the countey () Demsend prdl inflation - v
{c) Supply (d) Denuunl ' ™
%)) The need for campetition is:
(a) that thie ceconosny is productive znd elficiont
(b)  Job crcation
(¢} Reduction in foreipn trade
{d)  Leonomic growth
(8)  Fixed capital means;
() Stocks or inventories of raw mulerials
(L)  The machinery & equipments used.
() Corporate bonds
(d)  Sucuctures, building and equipmeats.
(9 1l capital consumption is greater than gross investment;
(@)  Gross investned must be negative
{0)  Gross invesiment must be dechuing
{(c) Net investiment is negative
(d)  Replacement investment is rising
{10) A swplus balance of payment may cause:
(@)  Employizent and meney supply 11 ise
(by  Money Supply 1o [all
(€)  Employment to rise and money supply 1 full
(d)  Employment and moncy supply ‘o fall
(11} Invisibie exponts include all the following except:
(a)  Govermment spending on military bases located vul side country
(b)  Gifis received by residents fruom loreign relatives
(¢}  Flows ol dividends into the country
(d)  Money spent aluoad by the residents on tourism,
(12)  Incidence of a tax refers lo:
(a)  Who cventualty bears thie burder of tax.,
{b) A principle of taxation
) Whether the tax is direct or ndivect
) A tax is periodicaily levied.
(13) Dunng a petiod of inflatjon, income tax reveane 1ises fusier than income, illustiate:

(2)  Uncmployment teap (h)  Povertytrap
(¢) Fiscal boost {d)  Fiscal drag

(14}  Causes of poverty trap includc the:
(a) tncome tax being setlower tuar the benefits
(b)  Existence of biack econonty
(c) Pracess of fiscel boost
(d) Regressive nature of income lax
(i5)  Privatized industry which benefits [rom cconomivs ol scale, it is likely that:
(a)  Efticiency will improve awd praits will increase
{b)  ECfficicncy will improve but losses will be srade,
(©  Indusuy's monopoly power will dininish
(d)  The industry will be casier to Nationalizel,
(16)  The cconomic problem of deciding what goads w produce is decided vy:
(a)  Supply or éemand (o)  DPolit levels
{c)  Shudow prices (d)  Relative prices
{(17)  Supply of agriculture credit from all souices is:
(8) 679248m (b) 979248m (¢} 479248m (d) 279243 m
{e)  Nontofthese
(I18) To reduce sconomic dispanlics, which oue will prove effective?
{a)  Market impesfection be removed [h)  Infuntilion system be made elfective )
{c) Populution pressure be coniroller| {5} Faxaban system be made effective
(19)  Terms of Trade refers to: .
{a}  Volune of exports and impors
(b)  Volume of balance of tracle 10 balnnece of inipor s
(¢)  Relationship between export prictss and implorls prices
(d)  Exchange value of cumrencies between (wo countries.
(203  Pakistan cxports are primarily:
() Manulactured goods (b} Sports goods
(¢}  Prmary products ()  Termary praducts.
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FEDERAL PUBLIC SERVICE COMMISSION (D

COMPETITIVE EXAMINAFION FOR RECRUITMENT TO POSTS
IN BPS-17, lINDER THE I'FI)ERAI GOVERNMENT 2005

E CONOMle, l’APEB I

TIME ALLOWED: THREE HOURS MAXIMUM MARKS: 100
NO'TE: Attempl FIVE questions in all, including QUESTTON NO.8, which is

COMPULSORY. All uestions carry EQUAL marks.

1 The major cconomic problem in a society is not the volume of
Production from scarce resources but rather how the resulting
Products are distributed among the consumers in & socicty. Discuss?

2 In uny economic system decision rogarding how to allocate scarve
resources among competing uses is performed with help of price
mechanism? How will you determine the ability of an economy 10
1o rcach a rational decision.

3 Equilibrium level of National income is af the point of effective
demand. Higher the level of effective demand, higher will be the
fevel of income and cmployment in the economy. Taking leakages .
and injection upproach when C+1> C+S |, when CH = C+§,
and when C+I < C+ S. Demonstrate your answer diagrammatically

4 Liquidity preference theory is the Keynesian view why people want
: to hold liquid funds .State the motives in support of the liquidity
‘preference in an Economy. How will you describe supply of money
and distinguish between Narrow money and Broad money.

5 The managers of the exchequer explained the economic policies in
term of driving cars. Maintaining a correct relationship between the
pressumofdmndandthecapachyofﬂneceonomytomee!ﬂle
demand, the govt. is supposed to touch the accelerator (reducc taxes),
to touch the brakes (increase taxes) if demand wag runnmg fast,

What just sysicm you can propose ~to deal with the situation. Suggcst
the constraints you will face.

6 To join hands with the communitics of nations Pakistan trading
advantage can only be in least cost combination and constantly
improving quality of its products . Agriculture sector must be
industrinlized as much as possible with cffective land reform,
Comment?

7 Stale the uims of [nternational Monetary Fund and give its principal functious

Do you think that the prescriptions suggested by the IMF benefit the
developing countries more or deprive them of the existing facilities?
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write oply the correct answer is answer book. Do nol roproduce the queslion.

which cause the demand curve for a good to move to the right,
A A dccrease in the cost of produdtion.
B A fall in the price of the good.

+ C Au increase in the price of a complimentary good.
D An increase in the price of a close substitule good.

If an economy experiences an increase in productivity, it means that;
A The level of output has risen.
B employecs are working harder than beforc.
C  oulput per unit of input has risen,
D technical change has taken place.

The central cconomic problem in an economy refers to;

A The prevalence of unemployment, '

B to allocatc scarce resources between compeling uses.

C  Consumers having less money than they would like.

D cosures that pmducﬁon costs are covered by sales revenue.

If the price elasticity for a product is -2, a 10 % fnll in its price will;
A Decreasc total rovenue by 20 %
B Increase sales volume by 10 %
C increase sales volume by 20%.
D increase total revenue by 20 %
Average cost curve rises afler a certain level of output because of
A Diseconomies of scale of production.
B Law of decreasing retums,
C Diminishing marginal utility.
D rise in price of factor of production.

which one of the following will tend to increase the degree of
Competition in an industry.
A product differentiation, :
B Horizontal integration.
C Economics of scale.
D low fixed costs.

A rise in the interest rate can lead to all except which onc,
A Fall in the sharo prices.

B A rise in investment.

C A rise in exchange rate.

D A shift of income from borrowers to savers
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16

17

18

19

20

which one of the following is most likely to lead to a fall in the
money supply.

A A fall in the interest rates .

B Purchase of govgrnment securities by the state Bank.

C Sale of government securitics by the state Bank.

D A rise in the amount of cash held by commercial banks,

{lic real rate of interest is ,

A the ratc at which the central baok lends to financial institutions,

B Bank base rate. : ' ‘
G the difference between the rato of interest and the rate of inflation.
D - the annual percentage rate of intercst

Public sector borrowing requirement is best defined as,

A the borrowing by the general public over tho period of a year.

B to finance the difference between a country's exports and iroports,
C the amount of taxation and bortowiny needed to finance public
D

expendilure.
the difference between government expenditure and its revenue
from taxation.
Mulli — national company is best described s one which,
A engages extensively in interpationul trade.
B Sells its output in more than one country. .
Cc Produces goods or scrvices in morc (han one country.
D Is owned by share holders in more than onc country.”

Which of the following is not an economic advantage of intemational trade
A It encourages specialization.
B Consumer choice i3 widened.
C industry secure economies of large scale production.
D trade surpluses can be used to finance the budget deficit.

which of the following cause most likely a country’s balance of payments 10

move fowards a deficit. -

devalue the country's currency.

the cxpansionary fiscal policy.

A contractionary fiscal policy.

a rise in the rate of domestic saviny;.

COoOw>
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B8 if demand is inelastic, which of the following statement is cosrect.
A [fprice of the good rises, the total révenue earned will increase.
B If price of the good rises, the total revenue carned will fall.
C Il prce of the good falls, the total revenue carned will increase.
D [ price of the good falls, the total revenue eamed is unaffected.

9  which would shift the production possibility frontier to the right.
A A fall in unemployment. '
B Anincrease in exports. ' :
C  Arisein total consumer expenditure, .
D technicul progress reducing production costs.

10 A fiscal expansion is most likely to reduce unemployment when,
A there is high margipal propensily to consume.
13 there is high marpinal propensity to save.
C structural unemployment.
D there is fixed exchange rate.

11 Cconomic welfare refers to;
A An increaso in state welfaro payment.
B arising standard of living. ;
C Increased omployment opportunitics,
D increase in health and education services.

12 Incalculating National income, double counting can be avoided by.
A deducting taxes and adding subsidies.
B deducting imports and adding exports.
C  cxcluding the value of the output of intermediate goods.
D excluding the valuce of transactions in second hand goods.

13 Government wish to control inflation because it,
A tends to reduce government tax revenue.
B Causcs money supply to expand.
C  damages intemational competitiveness,
D  shift income towards holders of financial asscis.

14 ifghe cxchange rate of cumrenocy fell, the result would be thal export
prices ,
A measured in the domestic currency would fall.
B measured in the domestic currency would rise.
C  mcasured in foreign currency would fail.
D mcasured in foreign currency would rise.
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS

IN BPS-17, UNDER THE FEDERAL GOVERNMENT, 2005

ECONOMICS, PAPER-]I

TIME ALLOWED: THRUEE HOURS SO ' MAXIMUM MARKS: 100
NOTE: Attempl FIVE questions in all, including QUESTION NO.8, which is

2

4

COMIPULSORY. All questions carry EQUATL, marks.

Lconomic devclopment i8 an inoovelive process lecading to  structural
transformation of social systems. It is a phenomenon known for the transmulation
of existing conditions by expanding the socio physical infra-structure of an
cconomy for improving the quality life of the masses. It can be achieved only
through proper implementation of a well woven plan. Examine the statcment?

Capital widening and Capital deepening requicés the capital stock (o grow faster
than the labourforce. It is time we must change our prioritics, unless it is properly
developed, tangible results cannot be realized. Discuss with reference (o power
and communication scetor. Give suggestions.

National planning in Pakistan has faced numerous upheavals which has subjected
the national process of planning to many ups and downs, which consequently lead
the economy to search new strategy of diversificd sources of cxicral assistance,
That is why planning process did not reflect any clear cut vision of a socio
cconomic policy. 7 Crilically examino the statcinent?

Toreign direct investments are not flowiog-in any sizable extent. With tight
situation in terms of uvailability of assistance, can we ruise sufficient revenue (o
cover owr development and non development expenditure. How can we do it?
Suggest measures? '

The economy needs new directions based on long tenm self reliance. The time
has come to deal with causcs and cures of mass poverty, National income
determines the cconomic status of a country's cconomy. Signify the National
income in & country?

we have plenty of cconomic potentials bul what is Jacking and laggiog behind is
the competency and capability tw utilize the bard carned scasce resources . The
rich have fcarned it and have started walking on the tight rope, Now their problem
is not to study the pros  and cons of their productive sectors, rather have focused
attention on exploring multiple opportunitics. Discuss?

When we look into the past, we find that industria) sector has resulted ina low or
negative produclivity , operating below Break Even Poinl, causing all its working

and paid up capital under financial constrainis with no possibility of capital |
returns, What is needed is the creation of conducive environment. Sugpest the
remedial measures for enviropment management in an economy.

Cantdeivill 2z
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8 Write only the correct answer i the enswer book . Do net reproduce the whole
question.

| The greatest requirement for economic development is ;
A to sucrifice present enjoyment for tomomow's benefits.
B Increasc in National income.
c invention and innovation in all productive sectors.
D mechanization of agriculturc,

2 Per Capita output would probably rise but output per worker would fall If;
A Capital deepening occurred rapidly,
B l.abour force participation rate of the population rosc,
C technical education of the work foree increased.
D Involuntary saving was increased.

3 Most of undcrdcvcloped counlries are agricultural with low income and needs ;
A increase in income of tho people depends upon agricultural output.
B Land can be owned collectively. -
C lnnd can be owned by large capitalist farmers. -
D land can be owned by laborers who &l it.

4 Voluntary saving will most likely increasc if, .
A Tex rates are increased.
B interest rate risc.
C distribution of income becomes more unequal.
D the rete of inflation increascs.
5 Ex,onomlc growth;
is synponymous with cconomic development,
B refers to qualilative change experienced by an cconomic system.

C when an economic syslem acquires greater productive capacity.
D always result in increased real per capita output,

6 Capital decpening;
A i an increase in the ratio of labour to capital.
B necessarily increases real pcrcapntn output.
C is less likcly to be effectivo in fostering growth in nch countrics than
in poor countrics.
D Can occur when saving reles are zcro,
7 Interest of the developed world in the developmeat of under developed
CCONOMICS ON;.
A general poliuCal frecdom and promotion of five societies.
B if world is not free their freedom would be in danger.
C they want to stop and check tyranny and aggression.
D developed countries peed customers tor theic suiplus production.

Contd.... P/ 2
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GNP al fuctor cost may be best defined os
A the total of goods and services producced within an economy over &
give time period,
B the total of oxpenditure of consumers on domestically produced
goods and service.
C all incomes received by residents in a country in return for factor
services provided domestically and abroad.
D the value of total output produced domestically plus nel property
income from abroad minus capital consumption.

which one of the fullowing is a transfer paymeat ju National income

accounting.
A Lducational scholarships.
B Salurics of employees
6 Payments for text books.
D Payment for examination fee.

which is the basic concept which underlics accelerator theory of investinent
A invesiment depeads on the level of savings
B investment is inversely related to the rate of interest.
C investruent is determined by the volunie of Commercial Bank
Lending.
D investment rises when there is an increase in the rate of growth of
demend in the economy.

which one of the following would cause a fall in the level of aggregate demand
in the economy.
A a decrease in the level of imports.

B a fall in the propensity to save
C a decrease in goveroment expendituse.
D a decrease in the level of income tax .

Capital (ormation remained very low in Pakistan due to

A low saving rale,

B Savings are not fully invested.

C Mancy and capital market are not stable.

D duc to high rate of inflation purchasing power is very low.

Lifficient allocation of resources in an economy vecurs whenever,

A Prices is equated 1o Marginal social cost in some units.

B Incomo and wealth are distributed in a fair way.

C there is full employment of resources.

D the existing resource allocation cannot be changcd withoul inaking
it worse off. ,

Contd.... [ }'Y
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i4 when a worker earns more than the just sufficient to keep bim in his
job, the  excess income ig called;
A An opportunity cost.
B An economic rent, -
C Transfer carnings.
D Surplus value.

15 there are S workers working in a ficld and each one is paid at the rate of
Rs. 200 / = per day. Later on raising wngemcbyl{s. 50/= per day to altract
one more  worker , [f other costs remain constant, marginal i mput cost of
cmploying the additional worker is ;

A Rs. 400 /= |
B Rs. 50 /=
C Rs. 700/~
D Rs. 300
16 if state wishes to stimulate consumption , which one of the [vllowing measures
be the most effective;
A Incrcase in aid lo agriculture and industry.
B an increase in old age pension.
C A decrease in higher rates of income tax.
D A decrease in personal tax allowances.

17 the incidence of tax refers to ;

A who economically bear the burdon of the tax.

B the canons of taxation.

C type of tax , dircet or indirect tax.

D whether 1hc tax is continuously or periodically levied.

13 During the inflationary period ,when income tax revenue rises {aster thun
National income, this illustrates;
A the situation of upemployment (mp

B the poverty Wy,
C fiscal boost.
D fiscal drag.

19 A balance of payment surplus may cause;
A cmployment and the money « upply to rise.
B the moncy aupphcs to full.
C crmployment (o rise and the money supply to fall.
D employment anl the mwuey supply to full.
20 Green revolution reforto; -
introduction < ' :nodem technology.

reforms in Jand tenure system, S

Introduction of agro-bascd industry.
Boosting exports of agriculfural products

VA &>
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